roja

ﬂﬁmoo IMOHEOEeNbHHUK BTOPHHK cpena 4eTBepr IIATHHALIA Henenbuas narpyska
(basuen)
1A 1. PazroBopsl 1. O6yq/rp—7 1. O6y4/rp—7 1. Pas/p—5 1. Matem — 8
Hen, 0 BaXKHOM 2. ®Ouz-pa—2 2. Pa3zp/p-5 2. O6yu/rp—17 2. Paz/p-5
= 2. O6yu/rp —7 3. Marem — 8 3. Marem — 8 3. ®uz-pa-—2 3. O6yu/rp —7
— 3. Marewm — 8 4. O6yu/rp—"7 4. U30-3 4. TexHon —2 4. ®Ouz-pa-—2
4. OOM -3 5. Pa3B/p—35 5. OOM -3
18 29 23 19 22
1b 1. Pasr o Baxu 1. Pa3s/p—35 1. PazB/p—5 1. Yren u p/p -5 1. Pa3s/p—5
Hel 2. Marem — 8 2. Marem — 8 2. Marem — 8 2. Marem — 8 2. Ilucemo — 7
ww% 3. Yrenup/p->5 3. Yrenmp/p-5 3. ITucemo — 7 3. 11O -2 3. OOM -3
tac 4. IO -2 4. AOK -2 4. TITIO -2 4. AOK -2 4. M30-3
5. ADK -2 5. IO -2
17 22 22 17 18| 192
2A 1. Pazr o BaxH 1. Jlut/ar -5 1. ®I'CP -7 1. ®usz-pa—2 1. Matem — 8§
Hen 2. JInt/ur—5 2. Marem — 8 2. Matem — 8 2. Texnon -2 2. Pazp/p—5
- 3. Marem — 8 3. Pass/p-5 3. Pass/p—5 3. Marem — 8 3. ®I'CP -7
qac 4. Pa3zs/p—5 4. ©I'CP -7 4. @uz-pa-—2 4. OICP -7 4. OOM -3
5. UI30-3 5. ®uz-pa—2 5. Jlut/at— 5 5. Jur/ur -5 249
21 27 27 24 23 | °




2b 1. Pasr o Baxu 1. Pase/p—35 1. ©30-3 1. Urenne — 5 1. Pazg/p—5
Heyy 2. Obya/rp—7 2. Marem — 8 2. Marem — 8 2. Marem — 8 2. OOM -3
ww% 3. Marem — 8 3. [0 -2 3. AOK -2 3. O6yu/rp—7 3. IO -2
uac 4. ADK -2 4. Yrenue — 5 4. Pa3g/p—5 4. TITIO -2 4. Yrenwue — 5
5. IO -2 5. AOK-2 192
17 20 20 24 15
3A 1. Pasr o BaxH 1. Jlut/ar—5 1. Pasg/p—5 1. ®I'CP -7 1. Pa3g/p—5
Heqt 2. Pass/p-5 2. Marem — 8 2. ©I'CP -7 2. Pa3zp/p-5 2. Marem — 8
g 3. Martem — 8 3. ®I'CP -7 3. MateM — 8§ 3. Matem — 8 3. U130 -3
- 4. OI'CP -7 4. ®uz-pa—2 4. Jut/ar—5 4. Jlut/ar—5 4. @uz-pa—2
5. Jlut/utr — 5 5. OM-3 5. ®uz-pa—2 5. TexHon—2 18
25 22 22 22 18 |
4A 1. Pasr o BaxH 1. I'pamm —7 l. Pa3s/p—5 1. Texnon —2 1. ®uz-pa—2
Hezl 2. I'pamm — 7 2. PasB/p—5 2. ®uz-pa-—2 2. Quz-pa—2 2. I'pammar — 7
iy 3. Pass/p—5 3. Matem — 8 3. Martem — 8 3. Matem — 8 3. Marem — 8
yac 4. Marem — 8 4. Jlut/uar -5 4. Jur/ar —5 4. Paz/p—5 4. Jlut/atr -5
5. Jlut/ar -5 5. UI30-3 5. I'pammat — 7 5. OM -3 93.4
20 28 27 20 22|
4b 1. Pasr o Baxu 1. AOK -2 l.Yren u p/p — 5 l.Yrer u p/p— 5 1. AOK -2
e | 2. Yrenup/p-35 2.130-3 2.Martem — 8 2.Marem — 8 2. Marem — 8
aq ' | 3-Marem—8 3.Ceegmorp—7 | 3.ADK -2 3.Ceenmorp—7 3. OPKC2 -3
wac 4. Paze/p -5 4.Matem — 8 4.Cenmorp —7 4.Pazs/p -5 4. TIIIO -2
5. 110 -2 5.PazB/p—5 5.Komn/ tex — 4 5.0M -3 295
20 25 26 28 15|
SA 1. Pa3sr o Baxu 1. Pa3s/p—5 1. ®us-pa-2 1. Marem — 8 1. I'pammar —7
Hen 2. Ouz-pa—2 2. Pa3zp/p->5 2. I'pammar — 7 2. I'pammar — 7 2. I'pammar — 7 |
i 3. Pass/p—5 3. Marem — 8 3. Jlut/ur -5 3. TexHon —2 3. Matem — 8§
qac 4. Paz/p—5 4. 130-3 4. OM -3 4. Jlut/ar -5 4. Matem — 8
5. Marem — 8 5. Jlut/ar -5 5. OPKCD -3 5. Guz-pa-—2 4
20 26 17 25 32




5b | l.Pasro Bax 1.Matem — 8 1.Marem — 8 lL.Yren u p/p—5 1.Mart/tex — 2
Hen | 2 .Matem — 8 2.Ceepmorp—7 2.Cegmorp—"7 2.CBenmnorp—7 2.ADK -2
o | JADK-2 3.A®K -2 3.Pasp/p—5 3.Pase/p -5 3.Ceenmorp—7
wac | 4.OM -3 4 Marem — 8 4.Paz/p—5 4.Pazs/p—5 4 Matem — 8
SUrenup/p-5 5.Kom/Tex — 4 5.Marem — 8 SUYrenup/p-5 252
18 23 29 30 24
5B 1. Pazr o Baxnu 1. ADK -2 1. Marem — 8 1. Pa3s/p—5 1. AOK -2
Hesl 2. Marem — 8 2. ©I'CP -7 2. OI'CP -7 2. Marem — 8 2. Marem — 8
g 3. Pass/p-5 3. Marem — 8§ 3. ADK -2 3. Yrenne — 5 3. Yrenue — 5
T 4. Kom/tex — 4 4. Paz/p—5 4. Pa3s/p—5 4. OM -3 4. OPKC3 -3
VO 5. [0 -2 5. OM -3 5. U30-3 5. IO -2 ”
19 25 25 23 18
SI" | 1.Pa3r o Baxu 1. Ucropust — 6 | 1.Marem — 10 1. Marem — 10 1. Matem — 10
Hen | 2 Pycck/sa3 — 8 2. Texnon—4 2.I'eorpadus — 6 2. buonorus - 6 2. Marem — 10
5o ' | 3:Matem — 10 3. Texnon—4 | 3.Pycck 513 — 8 3. Pass/p—8 3. Pycck 13— 8
qac | 4.McTopus — 6 4. Marem— 10 | 4.Pazs/p—8 4. Pycck s13— 8 4. Jlurepar — 6
5.buonorus — 6 5. Pycck 13 —8 | 5.Pase/p—8 5. Jlurepar — 6 5. U30-3 39,2
6.'eorpadus — 6 6. Jlutepar—6 | 6.ADK -2 6. AODK -2 6. OAHKHP —3
36 38 42 40 40
5/ | l.Pa3r o BaxH 1. Marem — 10 1. Pa3zp/p—8 1. Pycck 513 — 8 1. Jlut.gar — 6 I
wen | 2.TIpod.tp — 4 2. Pycck 513 — 8 2. Pase/p—8 2. Jlur.ur —6 2. Jlur. 9t — 6 e |
30 | 3.Tpod tp—4 3. UI30-3 3. Ilpupoxn —5 3. OCXK -3 3. lpop.tp—4 | | |
Yac | 4.Pycck 3-8 4. Jlut.ur—6 4. Matem — 10 4. Marem — 10 4. Ilpod.tp—4
YO | 5.Pycck s3-—8 5. Tlpupon — 5 5. AOK -2 5. Ilpod.tp— 4 5. Matem — 10 32,6
6.AQK -2 6. AOK -2 6. OCXK -3 6. [Ipodr.tp —4 6. UI3O-3
26 34 36 34 33
5E 1.Pa3r o BaxH 1. U30-3 1. TIpod.tp — 4 1. Ilpod.tp —4 1. Marem — 10
Hen | 2 Pycck A3 — 8 2. Marem — 10 2. Ipod.tp — 4 2. Ilpod.tp — 4 2. AOK -2
230" | 3-Pyccks3—8 3. AOK -2 3. Pass/p—8 3. Pycck a3 — 8 3. Jlut/ur -6
Yac | 4.Martem— 10 4. Tlpupong — 5 4. Pazs/p—8 4. Jlat/at — 6 4. Jlut/at — 6
Yo | 5.0CXK-3 5. Pycck a3 —8 5. Matem — 10 5. Ilpupon -5 5. Hpod.tp—4 | 4, ]
6.130 -3 6. Jlut/yr — 6 6. ADK -2 6. OCX -3 6. [Ipod.tp —4 ’
32 34 36 30 32




7A 1. Pasr o Baxu 1. Jlurepar — 6 1. JIutepat — 6 1. I'eorpad — 6 1. Pycck/s3 — 8
Hex 2. OBX -3 2. Buomnor - 6 2. U30-3 2. Hcropus — 6 2. Anrebpa— 10
- 3. Pass/p—8 3. Pycck/a3 — 8 3. Teometp — 10 3. ®usmka—9 3. AOK -2
e 4. Pazs/p—8 4. Pyccx/s13 — 8 4. buonor—6 4. Anre6pa— 10 4. Pycck/a3—8
5. Anrebpa— 10 5. Aunre6pa— 10 5. Teorpad — 6 5. Pass/p—8 5. Feomerp—10 | 45,
6. Texnon -4 6. ®uzmka —9 6. Mudopm —4 6. Jlurepar — 6 6. Jlurepar — 6 u
7. Texmon —4 7. AQK -2 7. AOK -2
43 49 35 45 44
8A | 1.Pasr o Baxu 1. Pycck 513 —8 1. OBX -3 1. Xumus —9 1. F'eomerp — 10
Hen | 2 .@Pwusuka —9 2. AOK -2 2. Xumus — 9 2. Teometp — 10 2. ®uzuka—9
2" | 3Mudopm —4 3. Ucropus — 6 3. Teorpad — 6 3. Texnon —4 3. Pycck a3 — 8
qac | 4.Pa3ze/p—8 4. Anrebpa-— 10 4. AODK -2 4. Texnom —4 4. Teorpad — 6
5.Pa3B/p — 8 5. Aurebpa— 10 5. Pycck.si3 — 8 5. Pycck 513 — 8 5. AOK -2 44.4
6.Anre6pa— 10 6. Jlutepar — 6 6. Jlutepat — 6 6. Ucropus — 6 6. Jlurepar — 6 u
7.Anrebpa — 10 7. U130-3 7. buonor — 6 7. buoisor — 6
49 45 40 47 41
9A | 1.Pasr o Baxkn 1. AGK-2 1. JIurepat — 6 1. Pycck/a3 — 8 1. Xumus -9
Hen | 2 Pyccx/s3 — 8 2. Hctopusi — 6 2. T'eometp — 10 2. Anre6pa— 10 2. T'eorpag — 6
3" | 3-@usmxa -9 3. Pass/p-8 3. Xumus -9 3. Pycck/a3 — 8 3. T'eometp — 10
waca | 4.Anrebpa— 10 4. Paze/p—8 4. T'eorpad — 6 4. ®uzuxa—9 4. Pycc/sa3— 8
5.JIutepar — 6 5. Anrebpa-— 10 5. buonor—6 5. HUcropus — 6 5. Jlutepat—6 | 4,
6.Anrebpa— 10 6. Texunonm —4 6. U30-3 6. buomor — 6 6. AOK -2
7.ADQK -2 7. Texnon —4 7. Uudopm — 4 7. OBX -3
45 42 44 50 39
9b 1. Pasr o Baxu 1. AOK -2 1. Pazs/p -8 1. Marem — 10 1. Texunon—4
nen | 2. Pasg/p—8 2. Pa3/p-8 2. Pycck 13— 8 2. OBX -3 2. Texuon —4
a4 | 3.Pyccx 3-8 3. Marem — 10 3. Jlutepar — 6 3. Marem — 10 3. Matem — 10
Yaca | 4. Texuon —4 4. Pycck 13— 8 4. Marem — 10 4. Jlurepar — 6 4. Teorpad — 6
ciox | 5. Texuon — 4 5. Jlurepat — 6 5. CbO-4 5. I'eorpad — 6 5. Uctopus — 6 39.6
MMM. 6. Matem — 10 6. U30-3 6. Texnon—4 6. Wcropus — 6 6. ADK -2
7. AODK -2 7. Uudopm — 4 7. Texuon -4 7. CBO -4
36 41 44 45 32




10A | 1.Pasr o Baxn 1. Buomor — 6 1. Obmects — 3 1. OBX -3 1. Pyccx/s3 — 8
wen | 2 Anrebpa— 10 2. Pycck/s3 —8 2. Uudopm — 4 2. Pazg/p—8 2. Jlurepar — 6
2" | 3-Pyccw/sz—8 3. Aurebpa— 10 3. Teomerp — 10 3. Pase/p—8 3. Xumus —9
qaca | 4-Xumus —9 4. Jlurepat — 6 4. Texuon—4 4. buonor — 6 4. T'eomerp — 10
5.I'eorpad — 6 5. Ucropus — 6 5. Texnon —4 5. ®uzuka—9 5. T'eorpap—6 | 45 ¢
6.ADK -2 6. AnreGpa— 10 6. AODK -2 6. ADK-2 6. Ucropus—6 ,
7.JIntepat — 6 7. ®uzmuka—9 7. Pycck/s3 —8 7. Anrebpa— 10
41 45 35 38 45
106 | 1.Pasr o Baxu 1. ®usuxa—9 1. Xumus —9 1. Pycck/s3 — 8 1. I'eorpad — 6
Hen | 2 Pycck/s3 — 8 2. Anrebpa— 10 2. ObBX-3 2. Wndopm — 4 2. Xumus — 9
24 | 3.Teorpad -6 3. Pyccx/s3 — 8 3. Pass/p—8 3. Buomnor — 6 3. Hcropus — 6
qaca | 4.@u3uka—9 4. TexuHom —4 4. Pa3g/p—8 4. Jlurepat — 6 4. Pycck/s3 —8
5.Anre6pa— 10 5. Texnon — 4 5. 'eomerp — 10 5. Anrebpa - 10 5. Jlurepar — 6 444
6.Jlurepar — 6 6. OGuiectB — 3 6. Buomnor —6 6. Anredpa— 10 6. T'eomerp — 10
7.ADK -2 7. Wcropust — 6 7. ADK -2 7. ADK -2
41 44 46 46 45




